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SECTION B
[40 MARKS]

Answer any TWO questions from this Section.

Explain twe uses of correlation in education. (6 marks)

The mean temperature in Boti Falls for the month of February is 23 degrees with a standard
deviation of 4.2 degrees. What is the T-score for a temperature of 17 degrees? (5 marks) -

 State three properties of the mean as a measure of central tendency. (3 marks)

The mean age of five students is 28 years. If one of the students is excluded, the mean gets
reduced by 2 years. Find the age of the excluded student. (6 marks)

The average height of 30 learners was calculated to be 150 em. It was later detected during
the computation of the mean that one value of 165 cm was wrongly copied as 135 em. Find

the correct mean. (6 marks)
%

Determine the appropriate correlation coefficient that can be used to measure the following

relationships. _ (4 marks)

i.  gender and weight of students :

ii.  age and height of nineteen (19) students in terms of ranks
iti.  colour (white and brown) of hen’s eggs and temperature

iv.  dancing ability and performance in a beauty contest
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c. Differentiate between regression and correlation in statistics. Give an example of aresearch

question/hypothesis that can be analysed by each statistical tool. (6 marks)
d. State two assumptions of correlation. (4 marks) »
a. State three properties of the normal distribution. (3 marks)

A teacher wanted to find out which of these two fruits (apples and oranges) weighs more. He
took an apple that weighs 110 grams and an orange that weighs 100 grams. Assume that the
weights of apples and oranges follow a normal distribution with the following parameter values:

Apples Oranges
Mean weight grams 100 140
Standard Deviation 15 25
b. Which fruit weighs more than the average and why? (7 marks)
c¢. Explain three uses of the measures of central tendencies. ' (6 marks)

d. State the two reasons why a statistician would prefer the standard deviation to variance.
(4 marks)
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